
N{ATH 2i3 QUIZ 7 20 MARCH 2012

Answer the following question in the space provided. There is no need tc-i justify your
answers. This quiz is worth 5 points.

Fi,nd f-," i,f f (-,r,a,z): (w2ry2 -l rysz2 *ruz2y)3.
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MATH 28 - qUrZ 7 - 20 MARCH 2012

Answer the following question in the space provided. There is no need to justify your

answers. This quiz is worth 5 points.

Fznd, fo,u i,t I@,r7 : (2r + y2)t/2.
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MATH 
"' - (Jrr T - 2OMARCH 2012

Answer the following question i" th. space provided. There is no need to justify your
answers. This quiz is worth 5 points.

Let g(r,A, z) : 2r'g - Srza + I0y2 23. Veri,fy that g,o : gyr and that g"o : ga".
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